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1. The relation  is defined by f(x) = {

x2,0<x<3 }
3x,3<x< 10

2
The relation is defined by g(x) = { XL0Sxs2 }

3x,2<x< 10
Show that f is a function and g is not a function.
Answer:

The relation = is defined as

2
f(x)={ x-,0<x<3 }

3x,3<x< 10
It is observed that for
0<x<3,f(x)=x*
3<x<10, f(x)=3x
Also,at x =3, f(x) =32=90orf(x)=3%x3=9
ie.,at x=3,f(x)=9

Therefore, for 0 < x <10 , the images of f(x) are unique.
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Thus, the given relation is a function.
The relation g is defined as
x2,0<x<2
g(x) =
3x,2<x< 10
It can be observed that for x =2,g(x)=2% =4 andalso g(x)=3%x2=6

Hence, element of the domain of the relation corresponds to two different images i.e.., 4 and 6.

Hence, this relation is not a function.

2.If f(x)=x*,find SAD - fM
1.1-1
Answer:
f=x
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3. Find the domain of the function f(x) = XA
x2 —8x+12

Answer:

The function is,

X2 +2x+1
xX) =
f ) x2 —8x+12
_ X2 +2x+1
T (x—-6)(x—2)

It can be seen that function is defined for all real numbers exceptat x=6 and x=2 .

So, the domain of is R-{2,6} .
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